FHERBEUTRORZEEHME (SM7E1 ARKRE)
BM7E1APFHRTIE, AGFHAE MEFERIELRELTVET,

1 ZREHRERR BIERLL)

WY DBEE-EF. Y Enﬁmﬁﬂa‘lﬁtﬁ%$&l-_ct6A%Eﬂ%ﬂ@#ﬁfﬁ%zfa £7,

Ea [N B 1% | g B E
5 B #Fﬁ%% F H & G B8 & B
SH7E1AR| 7 0 8 0 8 91 98
SHM7FIAFRE| 7T 0 8 0 8 91 98
SHeF1AKRE| O 0 10 0 10 | 100 109
IR -2 0 -2 0 -2 -9 =11
% SH7E1 AP, 1 BRYICARBRITN0.26. MEABRIHIGRE,
2 TE-BEFIREERSE ASER)
=7 A 5 =B CEEE:
" & s &
|35 5% - Bpgr pi | $F07 5 | S7065 | B ﬁl?ﬂit%%ﬂﬁﬂi tEiE | sr7E Ses K
= W 3 3 0 0 !0 0 3 1.4 -]
' 0 0 0 0 0 0 0 0 0
E% (o o0 0flor0o 0000
H & 1 0 1 0 0 0 1 0 1
& 0. 0.0l 0l0i0]0i0.:0
X F 0 0 0 0 0 0 0 0 0
= 0 0 0 0 0 0 0 0 0
2 & 0 0 0 0 0 0 0 0 0
=T 0. 010 010 |0 0.0 1.0
A AN P g -] 0 0 0 3 3 0
XW [0 11Tl o0l0 ro o1 -
BmILOSRAT | 0 0 0 0 0 0 0 0 0
% 0. 010 0.0 10 (0O :0 {0
I mE 1 41 0 0 0 0 1 1 0
oM 0 0 0 0 0 0 1.0 0 0
S H 0 1 i~=] 0 0 0 0 1 =
= it “ 9 {2 0 0 0 8 10 i =2
3 FMBIREEM(ASER) >
B B M w M & 3
6~8 |B~10[10~12{12~14|14~16|16~18| 18~0| O~6
= 0 2 1 0 0 3 1 0 7
£ (%) 00 (286 (14300 |00 {429 (143 | 0.0 | 100
4 ERBISEHERASER)
B % g;_jﬁ S i} i) Bl Hff | o ¥
. o | am emwz B % HMSE oM B |7
% & 1 T4 ] 2 1. 0 [ 1 0| 7
= (%) 143|286 |57.1 |286 143 {00 {143 | 0.0 | 100
5 EMAEEER ASER
FE R | FHROSEBLT) | BE(16~24) |ALA (25~64) | Fils 658U | & &t
18 E M 0 1 6 1 8
3 EH M 0
£ (%) 125 75.0 125 100

0 rmlz?;u;ei#ﬁn%u%am
SHHE
it X
i X
FELth X

INA E — LA ZBRLELED!!

/. ERREEE RIS RERET

O—F—LAlE. "EICEDRIA0A—FILOEROE
BRREREBTHEMNARELRIEICHLT. N(E—L
X FDRTHL100A—FILERET S LN TREE LY B 1
REICKYZBERERRICHCZEIZERAYET,

LAL. ZEERA SV THEHMFEETIIROEH,, A
MEPETENNIFITELOBEBENHYET .




